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<#root>
Switch#
show nml's qos

QoS is disabled
QoS ip packet dscp rewrite is enabled

!I--- Even though it says QoS ip packet dscp rewrite is enabled,

I--- the switch does not alter the DSCP label on the packets when
I--- the QoS 1is disabled.
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<#root>
Switch(config-if)#

ms qos trust ?

cos cos keyword

devi ce trusted device class
dscp dscp keyword

i p-precedence ip-precedence keyword
<Cr>

o O 1: ZEJ} HAMA ZE = 2)|0]0 3 ZEQI ZF mis qos trust dscp B2 74450k B L
Ch HMA ZE &= gil0]o{ 3 ZE Q| Z |0l dot1q == ISL Ef2 7t SIS 22 mis qos
trust cos HES A8 = gl&LICt CoS HIE = dot1q E£& ISL Z Yol /& LCE.

nterface G gabitEthernet1/0/1
description **** lLayer 3 Port ****

no sw tchport

i p address 192.168.10.1 255. 255. 255.0
m s gos trust dscp

end

nterface G gabitEthernet1/0/2
description **** Access Port ****
swi tchport access vlan 10

swi tchport npde access

m s qos trust dscp

end

- 0 2. ZEJ} Ex-E3 ZEQ| B2 mis qos trust cos E&= mls qos trust dscp HHEE +8E +=
U&LICH ZETI DSCPE AEZISHE T T F2 dscp-cos U HIOIES ALS oP04 CoS &2
HaLstLICH OMEH7ER|Z, ZE T CoSE AMESIEE A= 7=‘—|— cos- dscp T EO|EE AE
504 DSCP 2t 2 HlatEhLct.

interface G gabitEthernet1/0/3
description **** Trunk Port ****
swi tchport trunk encapsul ati on dot 1q
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swi tchport node trunk

swi tchport trunk native vian 5

swi tchport trunk allowed vlan 5, 10, 20, 30, 40, 50
mMs gos trust cos

end

nterface G gabitEthernetl/0/12
description **** Cisco | P Phone ****
swi tchport access vlan 10

swi tchport node access

swi tchport voice vlan 20

ms gos trust cos

spanni ng-tree portfast

end

1--- The Ci sco | P Phone uses | EEE 802.1Q franes for Voice
l--- VLAN traffic.

ol 3: £E 7} dot1q EE A LEO|T EEJ} mis qos trust cos B2 A MHE F<2 HIO|EIE
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0|2 S0{ GigabitEthernet1/0/12 ZE= HA|A VLAN 10 & 24 VLAN 2022 ZAELC}.

interface GigabitEthernetl/0/12
description **** Cisco IP Phone *¥%¥%*
switchport access vlan 10

switchport mode access

switchport voice vlan 20

mls qos trust cos

spanning-tree portfast

!I--- The Cisco IP Phone uses IEEE 802.1Q frames for Voice
I--- VLAN traffic. Voice VLAN is only supported on access ports and not
!I--- on trunk ports, even though the configuration is allowed.



end
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interface GigabitEthernetl/0/12
description **** Cisco IP Phone *¥%%*
switchport access vlan 10

switchport mode access

switchport voice vlan 20

mls gos trust cos

mls qos cos 3

spanning-tree portfast

end

mls qos cos 3 override BHEOE ZEE FHE 42, ZE ZH¥2 CoS Z (BT %S L EfT
2 E2F)2 322 MYFLct o™ +HE AE| ZE2 RHEolELC.

interface G gabitEthernet1/0/12
description **** Cisco | P Phone ****
swi tchport access vlan 10

swi tchport node access

switchport voice vlan 20

m's gos trust cos

m's gos cos 3 override

l--- Overrides the m's gos trust cos

1--- Applies CoS value 3 on all the incom ng packets on both
l--- the vlan 10 and 20.

spanni ng-tree portfast
end
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interface GigabitEthernetl/0/12
description **** Cisco IP Phone %%
switchport access vlan 10

switchport mode access

switchport voice vlan 20

mls gos trust cos

spanning-tree portfast

end

PC7I Z i &0l VLAN 202 EHZ 5t CoS T 52 MHEE/LICE AQ{X|= Cisco IP Phonef| Al
A ZEO ¥ZE Cluto|A0MH 2= Ef2E H|0|E EE{Z(IEEE 802.1Q EE= IEEE 802.1p Z &
f&o| EBfE)E XSIFLICH QIE{H|O|A T} CoS 22 MEISIEE T+ HEIRI22 2 Cisco IP
Phonel| HMA ZEE S5 =4I 2E E{EHO| HEE[X| o2 HEE £ SHHELICH EF
ARx|E PCol ECfEE AMEISIT 5185t IP M3 ECfEint SUE SME=RE MSELICEH O
A2 Gelol B 412 "hEr &8k 207t ofLICt. switchport priority extend cos<cos-value> B2
At &35t OIEE =ME YXIEg = JaLct,

interface GigabitEthernetl/0/12
description **** Cisco IP Phone
switchport access vlan 10
switchport mode access
switchport voice vlan 20

mls gos trust cos

switchport priority extend cos 0

JORCRONN
LR

I--- Overrides the CoS value of PC traffic to O.

spanning-tree portfast
end

switchport priority extend cos <cos-value> BHE2 IP T3} 7|7} PC E2{Z|Q| CoS Zf2 022 ¥3
St 5 ™3 7| gLt

- 0 5:0| & E0{ STt QIE{HO|A0AM F2 717 PCE AQ{x[0f Y 4A5t T CoS 2L0|
=2 dot1q ZH|I2 £ PC O|0|E{of Ef2 & X[ ELICt mls qos trust device cisco-phone &

g ALZ5HE Ol2{3t 2XI8 HXIE + YLt

interface G gabitEthernet1/0/12
description **** Cisco | P Phone ****
swi tchport access vlan 10

swi tchport node access

swi tchport voice vlan 20

ms gos trust cos

switchport priority extend cos 0

m s gos trust device cisco-phone

1--- Specify that the Csco IP Phone is a trusted device

spanni ng-tree portfast
end
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interface GigabitEthernetl/0/12
description **** Cisco IP Phone
switchport access vlan 10
switchport mode access
switchport voice vlan 20

mls qos trust dscp
spanning-tree portfast

A S 2 2E PC ESiE Qos gllolg2 AlZ[st= ol HEEIX| 7| Z2 o HE ==
H

QoS ™ Ef|0|= Zx| e 0|

QoS7t #'d3tx|H M E|o|E20| 7|Edtez dYxln st

<tfroot>

Di stributionl#

show

m s gos nmaps cos-dscp

Cos-dscp nap:

cos: 0 1 2 3 4 5 6 7

Di stributionl#

show

m s gos maps dscp-cos

Dscp-cos nmap:

di: d20 1 2 3 4 5 6 7 8 9

0 : 00 00 00 00 00 00 00 00 01 O1



01 01 01 01 01 01 02 02 02 02
02 02 02 02 03 03 03 03 03 03
03 03 04 04 04 04 04 04 04 04
05 05 05 05 05 05 05 05 06 06
06 06 06 06 06 06 07 07 07 07
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o0 WN PP

0 1: ZEJ} CoSE AME|SIEE AMEI AR B E £ 41 CoS Z40] AI2|ZE|/H CoS-DSCP E| 0]
Eof [zt DSCP ZL0| CHA| EA|EILICE 7|2 CoS-DSCP ZiI|1ai|o|Mof 2 ChS 2= 1
Zro| Zfo| oH=EEL|Ct

CoS DSCP(10%!4) DSCP
0 | 7|2ek
1 |8 Ccs1
2 |16 Ccs2
3 |24 Ccs3
4 |32 CS4
5 |40 CcS5
6 |48 CS6
7 |56 cs7

017|M Folstiof & EER
CS5QLICE. of 2= of Zkofl CHal B = LICH

04| 2:04|: QIE{H|O|A GigabitEthernet1/0/12= CoSE AE|ISHE S FdELICEH

interface GigabitEthernetl/0/12
description **** Cisco IP Phone
switchport access vlan 10
switchport mode access
switchport voice vlan 20

mls gos trust cos

spanning-tree portfast

end
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Ho|2=0 2Rt DSCP 22 DSCP EFLICt. 7|22 o2 DSCP 2ol CHst CHE CoS %t
2 RFCO 2t SHt2 A oHEE Lo,



O| Z4x|22f0|ME S5l CoS-DSCP ™ El|0|EE F4d5t04 CoS 501 sliE5ti= DSCP 2t EFE
HEE + UA&LITH

<#root>
Distributionl(config)#
m s qos map cos-dscp

0 8 16 24 32

46

48 56

!--- DSCP 46 is EF

ol Zm|azfo|M 2ol Ct& &zt Zol Ztol oHEELICH

CoS DSCP(10%!4) DSCP
0 |lo 7122k
1 |8 CS1

2 |16 CS2

3 |24 CS3

4 |32 CS4

5 |46 EF

6 |48 CS6

7 |56 cs7

o 3:ZE7} DSCPE AZ[st= & FHE < ZE +4I DSCP gf0| &lZ2|Z|H CoS Zt2
DSCP-CosS Ei|0|Z0f 2t ChA| EA|ELICH 7| = DSCP-CoS Z1X|1ei|o|Mof et CHE 1
2 2ol Zto| o EELICH.

DSCP DSCP(10%!4*) CoS
712 0-7 0
CS1 AF11 AF12 AF13|[8-15 1
CS2 AF21 AF22 AF23|[16-23 2
CS3 AF31 AF32 AF33|[24-31 3
CS4 AF41 AF42 AF43|32-39 4
CS5EF 40-47 5
CS6 48-55 6
CSs7 56-63 7




X802 DSCP %t CoS Zt0| 2 2F |0

DSCP(10Zl4*) DSCP CoS
0 712240
8 cs1 |1
10 AF11 |1
12 AF12 |1
14 AF13 |1
16 cs2 |2
18 AF21 |2
20 AF22 |2
22 AF23 |2
24 cs3 |3
26 AF31 |3
28 AF32 |3
30 AF33 |3
32 cs4 |4
34 AF41 |4
36 AF42 |4
38 AF43 |4
40 cs5 |5
42 5
44 5

Ol
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46 EF 5

48 CS6 |6

56 CS7 |7

21 HEQIF M= 2 E Cisco Catalyst A2{x|2| M Ef|0[20| S L3t oF B LICH MHZ C}
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F 2 EAl-MQC 7|8

HL

Classification and Marking A AM0f| A B8t WX{H MQCE AtE5t0{ INAE E/SIT EAIE £
AeLct ZEH HI| T80l CHAI MQCE AH8E = U&LICH £t WM o2 A IiZIE &

Alg = A&



P
Palicy-map sampla-policy 1
Class FHB Aclion
E
Class-A Trus - Quene 1 o
8
ERR W
—i= (hE =
Tal:::lss B Cumis |
L E ] - x
-l" ;
. Layar 3 Ouese 2 p* £
Hass-B ek -

O| Ctolo{2 =42 policy-mapO| QIE{HH|0|A 9| &I2{0f 4B (0] USE E0o4ELICE Catalyst 3750
A Q|x|el 2E QEE oA E30f Y Y HMEY + ¢i&LCH ofS Hu[aefo|/d2 Cholo{a 3
= LIEHHLICH o] Mo ME QoS 7Isel thi7|E #EE SHM2 2 CHEX| eh&LICt o HolA

=
£ 2E{Ho|A0f HEE MQCHEt =X E FHELICH

HO|E{ VLANO| 100| MEY F A7} 172.16.10.0/2421 W2 2 7HHELICH &4 VLAN 1000]
I MEY Z=AE=192.168.100.0/24 2 L|C}.

<#froot>

l--- Section A

Di stributionl(config)#
ip access-list extended voice-traffic

Di stributionl(config-std-nacl)#



permt ip 192.168.100.0 0.0.0.255 any

Di stributionl(config-std-nacl)#

ip access-list extended
dat abase- application

Di stributionl(config-ext-nacl)#
permt tcp any any eq 1521
Di stributionl(config-ext-nacl)#
permit tcp any any eq 1810
Di stributionl(config-ext-nacl)#
permit tcp any any eq 2481
Di stributionl(config-ext-nacl)#
pernmit tcp any any eq 7778
Di stributionl(config-ext-nacl)#

exit

Di stributionl(config)#

class-map O ass-A

Di stributionl(config-cmap)#

mat ch access-group nane voice-traffic
Di stributionl(config-cmap)#

exit

Di stributionl(config)#

class-map C ass-B

Di stributionl(config-cmap)#

mat ch access-group nane
dat abase- appl i cation

Di stributionl(config-cmap)#

exit

l--- Section B

Di stributionl(config)#
policy-map sanpl e-policyl

Di stributionl(config-pmap)#
class Cass-A

Di stributionl(config-pmap-c)#

trust cos



Di stributionl(config-pmap-c)#
exit

Di stributionl(config-pmap)#
class C ass-B

Di stributionl(config-pmap-c)#
set dscp af2l

Di stributionl(config-pmap-c)#
exit

Di stributionl(config-pmap)#

exit

l--- Section C

Di stributionl(config)#

interface gi gabitEthernet 1/0/13
Di stributionl(config-if)#

swi tchport access vlan 10

Di stributionl(config-if)#

swi tchport nobde access

Di stributionl(config-if)#

swi tchport voice vlan 100

Di stributionl(config-if)#

spanni ng-tree portfast

Di stributionl(config-if)#
service-policy input sanple-policyl
Di stributionl(config-if)#

exit
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* Class-A%2t Lx|et= EBIE2 CoS Bll0|E2 AE[t= T FIELICE &, IP H3te| ZE EE|
o CHEt Cos gfol &lZ|EL|ct. Ctolo{a ol EA|El CHE DSCP 2t 2 Class-A E2i=lof CH
2F CoS-DSCP i E|0|S 0l A mp-HELICE.

+ Class-Bo} 2 x|5t= EBTI2 DSCP 2 AF212 MASIEE 2 MHE/LICH Clojo{2 3o &
AlEl CHE DCoS 22 224 B ECHZ o] DSCP-CoS M Ef| 0|2 01| A mt A EL|C}.

- Zt HA | A of 7| Tei o[4S PHB A 0[2t 1 §LICH Cisco EHRE{0|A = O+
Y, E2ld, AlolE & %E Yx| 7|S0| X|H=l= PHB SEFLICH O0HE & EE|&2 C|sco

_l_

Catalyst 3750 LIxIM X|HEle Y2t PHB 2 LICt
<#root>

Distributionl(config)#

policy-map test

Distributionl(config-pmap)#

class test

Distributionl(config-pmap-c)#?
QoS policy-map class configuration commands:

exit Exit from QoS class action configuration mode
no Negate or set default values of a command
police Police

service-policy Configure QoS Service Policy

set Set QoS values

trust Set trust value for the class

<cr>

ﬁ
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set WA trust BH 2 Marking PHB Sl EHAERZ 72M4E
= UELICH StLto| HE o FEjA0M F 5.*:. LICH Z22qLt otut
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Police @& Policing PHB Zr42lL|C}. Oloi| CHaHAM = C}

Cisco Catalyst 3750 22| X[|0|| M= 40| E 0| X|&E|X| 2L &LICt Cisco Catalyst 3750 A ||
oMz chz| & Z& 3[x|7t X|EIX|EF MQCE AH8350d #MHE = eigLch 7| X &%
x| FMof CHai M= O EA{e| IR Z0i| M RHAlS| dB et

ok

* policy-map2 QIE{H 0|A 9| 22{oEt HBE & JU&LICH £ QAEH 0|20 M stH CHS

@ F HIAIX|7¢ EAIELICH

<#root>
Distributionl(config)#

interface gigabitethernet 1/0/3



Distributionl(config-if)#

service-policy output test

Warning: Assigning a policy map to the output side of an

interface not supported

Service Policy attachment failed

Warning: Assigning a policy map to the output side of an

interface not supported

ZE gi1/0/30| M ZE 7|8t EE= VLAN 7|Et S| CHE Q
2 xMgd m o|lgE Au|ado|Mo| MHELICE olE E

CoSE MESt=E T ELICH

interface GigabitEthernetl/0/13
description **** Access Port *¥#**
switchport access vlan 10
switchport mode access

switchport voice vlan 100

mls gos cos 3

mls gos trust cos

spanning-tree portfast

oS 2F
|, ZE

PIE{H| O] A0 policy-mapE 24 &5t trust BEO| A HE LTt

<#root>

Distributionl(config)#

interface gigabitethernet 1/0/13
Distributionl(config-if)#
service-policy input sanple-policyl
Distributionl(config-if)#

do show run int gi 1/0/13

Building configuration...

Current configuration : 228 bytes

|

interface GigabitEthernetl/0/13
description **** Access Port *#***
switchport access vlan 10
switchport mode access

switchport voice vlan 100
service-policy input sample-policyl

!I--- It replaces the mls qos trust or mls qos
!--- vlan-based command.

mls gqos cos 3

40| THE BL

Gi 1/0/132 C}

o
St



!I--- This command is not removed.

spanning-tree portfast
end

MH|A H2H 21240] mis gos trust E=&= mis qos vian-based BWHEE CHA|5t= RS &Qlg ¢
A& LICH mls qos cos EE= mis qos dscp-mutation B0t ZH2 CHE HHES HESK| o4&
Ch 2295, QoS 27/ B™Y S CHAISHH QoS 0+ B™-E CHA|SHR = et &Lch

78"%” Mol = EaiA ol F 72t EAIELICH EEiA AE IP M3 ECfED YX[stD Ecia

PCo| Cl|O|E{H|O| A o E2|7i0|M Eef=int UX|ELICt CHE 2 & PC E2i{Z(access-
Iist01| Ho|E HIO|E{HIO|A o Z 2| 0|M Q)2 H=H THO| class-default 2EHA of2ioll EF
ELct. ol= HA Mol AAEl HolE FeiA M Ux|5HR| &t = EeHZEE catch-all EEH“'
Lt 2t M class-defaultol] £5t= 0| ERfEI2 TEOM AIZ|E|X| tom, o|z{8t mZle
7|2 CoS 2! DSCP Bl|lo|EE 022 M™ELICt 7|&# CoS == DSCP #t2 0| 2eiA 7|2
Efjmoz MEsEE A8t & ola| |0}

MQCE Ar&3st0o{ 7|2 DSCP 2t dEg & UA&LICH CoS 22 DSCP-CoS i Ei|0|= 01| A
oh A ELCE

<#root>
Distributionl(config)#
policy-map sanpl e-policyl
Distributionl(config-pmap)#
cl ass cl ass-default
Distributionl(config-pmap-c)#
set dscp af 13
Distributionl(config-pmap-c)#

exit

0i7]0fl EAIE CHZE 7|& CoS 2 dd8e + U&LICH DSCP 22 CoS-DSCP H Ef|o| =0
M oh et

<#root>

Distributionl(config)#
interface gi gabitethernet 1/0/13
Distributionl(config-if)#

ms gos cos 3

Distributionl(config-if)#



do show run int gi 1/0/13

Building configuration...

Current configuration : 228 bytes
|
interface GigabitEthernetl/0/13
description **** Access Port *¥#**
switchport access vlan 10
switchport mode access
switchport voice vlan 100
service-policy input sample-policyl
mls gos cos 3
spanning-tree portfast

Highest PriorityE TrafficRZ M

O| oflollME Z4I|21i0|M0| TCP ZE 14942| EEH=lof 71& &

LICH.

1.

VOIP EZ{Zlof= EF2| DSCP #te &ehsloF &Lt

<{froot>

I--- Classifying all traffic coming with dscp value of EF
!I--- under this class-map.

Switch(config)#
class-nmap match-all Aut 0QS- Vol P- RTP- Tr ust
Switch(config-cmap)#

match ip dscp ef

Switch(config)#
policy-map Aut oQoS- Pol i ce- G scoPhone
Switch(config-pmap)#

cl ass Aut 0QoS- Vol P- RTP- Tr ust

!I--- Again setting the dscp value back to EF.
Switch(config-pmap-c)#

set dscp ef

Switch(config-pmap-c)#

police 320000 8000 exceed-action policed-dscp-transmt
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2. TCP 14942| EBiZ!of= DSCP 2t Q! CS4E &r&tsHof grlct.

<#root>
Switch(config)#

access-list 100 permt tcp <source source-w |l dcard> <destination destination-w | dcard> eq 1494

Switch(config)#

class-nap tcp

Switch(config-cmap)#

nmat ch access-group 100

Switch(config)#

policy-map Aut oQoS- Pol i ce- G scoPhone
Switch(config-pmap)#

class tcp

Switch(config-pmap-c)#

set dscp cs4

<#root>
Switch(config)#

access-list 200 pernit ip any any

Switch(config)#
cl ass-nap defaul t
Switch(config-cmap)#

nmat ch access-group 200

Switch(config)#

policy-map Aut oQoS- Pol i ce- Ci scoPhone
Switch(config-pmap)#

cl ass default

Switch(config-pmap-c)#

set dscp cs3



4. & QIE{H o[ A 0d M S LICH

<#root>

Switch(config)#

interface <interface-type><interface nunber>
Switch(config-if)#

servi ce-policy <policy-nap-nane>

x| et

Cisco Catalyst 3750 A x|0l|H= QlOB|A ZEME EC|4HE 78 = UA&LICH E2[A2
MQCE SaiMEt 78 = J&LICH &, EBEE EC|Ys7| 9IF QEuola &Y BHE0| &
LIct =2 Mol M E2E|4S #4351 service-policy input <policy-name> B30t A8 3104 =4 Y

2 M2 4 gLt eEH oA H Fof WY B2 HBY 4 gaLich

<#root>
Distributionl(config-if)#
service-policy output test

police command is not supported for this interface

Configuration failed!

Warning: Assigning a policy map to the output side of an
interface not supported.
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F. 0t 2 Z2|A(ET} &Y - policed-dscp-transmit)
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257, 01 & E2lo(= 1 &2 - &)

O] MMoi M= ot 8t EEiE 2 ArKlste Eal4 Mol CHai dBELICH E2|42 =4 ERjEE
E36t 1 A= bits per second0l| CHEH =41 =& R X|gHLIC} Cisco Catalyst 3750 AQ|x|= &
U &5, U HIA! Z2|P X[HELICH &, AQ|X| O|E{7t T StLIS| S 2 21 S6tH ECHES
TR MMdoR T2 0350 HYE =85tD ToHE &= Q&LICH Ctolo{a 32 3712l 2y
A 0| ZEEl policy-map sample-policy2& E0{&FLIC}


https://www.cisco.com/c/en/us/support/docs/switches/catalyst-3750-series-switches/91862-cat3750-qos-config.html#concept231
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o IP M35t7|0f edZ2E! PCO| A IP Communicator OHZ 2|71|0|M THZ! 2| DSCP Zt2 AlZ|&hL|Ct.
IESt O] EBE2 1Mbps2 Z 2| AlsHof &fLCt.
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ol

Padicy-miap sample-policy?
Class PHE dfction 1 FHBE Aclion 2
| | Policing %
"-L.th' 3
Curaua 1 3
2
e (] 3o
1 . L =
Trust | p——i | Folicing | f—1" | | Tates Map * i
Cusue 2 ¢ &
LA
Layer 3 -
Clase-C Marking | [ | Fo"ine -
L

MQC applied at the mbound interface
[BErvisa-palicy inpul sample-policg?)

ol Zm|zeio]4M2 Clolo{a ol AZE HA WS LIEHALICE

<ttroot>

I--- Create Access-1ist and Class map Class-A
Distributionl(config)#

ip access-list extended BULK- DATA
Distributionl(config-ext-nacl)#

pernmit tcp any any eq ftp
Distributionl(config-ext-nacl)#

pernmit tcp any any eq ftp-data
Distributionl(config-ext-nacl)#

permit tcp any any eq pop3

Distributionl(config-ext-nacl)#



permit tcp any any eq 143
Distributionl(config-ext-nacl)#

exit

Distributionl(config)#

class-map C ass-A
Distributionl(config-cmap)#

mat ch access-group nanme BULK- DATA
Distributionl(config-cmap)#

exit

!--- Create Access-1ist and Class map Class-B

Distributionl(config)#

ip access-list extended | P-Conmuni cator
Distributionl(config-ext-nacl)#

remar k

Tekx Vo-ice Pay10ad L3 X3
Distributionl(config-ext-nacl)#

permt udp any any range 16384 32767
Distributionl(config-ext-nacl)#
remar k

*** Voice Signalling **%*
Distributionl(config-ext-nacl)#

permt tcp any any range 2000 2002

Distributionl(config-ext-nacl)#

exit

Distributionl(config)#

class-nmap Cl ass-B

Distributionl(config-cmap)#

mat ch access-group nane | P- Conmuni cat or

Distributionl(config-cmap)#

exit

!--- Create Access-1ist and Class map Class-C

Distributionl(config)#

ip access-list extended application



Distributionl(config-ext-nacl)#
remar k

*

#*% Application for example ***
Distributionl(config-ext-nacl)#

permt tcp any any eq 32768
Distributionl(config-ext-nacl)#
permt udp any any eq 32768
Distributionl(config-ext-nacl)#
permt tcp any any eq 32769
Distributionl(config-ext-nacl)#
permt udp any any eq 32769
Distributionl(config-ext-nacl)#

exit

Distributionl(config)#

class-map C ass-C
Distributionl(config-cmap)#

mat ch access-group nanme application
Distributionl(config-cmap)#

exit

I--- Create Policy map
Distributionl(config-cmap)#
policy-map sanpl e-policy2
Distributionl(config-pmap)#

class Cass-A
Distributionl(config-pmap-c)#

poli ce 10000000 8000 exceed-action drop
Distributionl(config-pmap-c)#

class C ass-B
Distributionl(config-pmap-c)#

trust dscp
Distributionl(config-pmap-c)#

police 256000 8000 exceed-action drop
Distributionl(config-pmap-c)#

class Class-C



Distributionl(config-pmap-c)#

set dscp CS2
Distributionl(config-pmap-c)#

pol i ce 25000000 8000 exceed-action drop
Distributionl(config-pmap-c)#

exit

Distributionl(config-pmap)#

exit

I--- Apply Policy map to the interface
Distributionl(config)#

interface G gabitEthernet1/0/20
Distributionl(config-if)#

service-policy input sanple-policy2

X424 40| Z1T| 73 0[AE 0470 A AT EtLICH,

« Class-A: Class A2t Y x|et= EEfEH2 1 OMbps &2 Z2|AELCH
QoS 2t 2 AZ/e £ gi&LICt Cos &
Modl ofsH A LIC

+ Class-B:Class B2} & x|5tE=

Ct. CoS %2 DSCP-CoS HIO|E UM Tt E =~ l&L|c O oS
256Kbps2| £ 2 EZ|AELICH D=8t W2

« Class-C:2cHA Bt x|t E
EAlR oP‘ Zdo|z, C}E st &
DSCP Zf CS2=2 -“-A|E|_T'_ CoS

eif=lof| sl =~ == 5 7tX| PHB
HAIE ot= JLICH Zeia Cot 2
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ZiliA A EEfE 9

| DSCP 2t2 022 EAIELICH B3 T2 Ei

Eci=lof CHal =&8xl= F 7HX| PHB 10| /& LIC}. StLt=
AlZ|o|T CHE st x|t S QIL|CH S2iA B E2fZ o CHE DSCP

U2 LEE = UL

Zeia B ECiES

Z2[Moll ofslf Afxi|E LICH

x40
K|S

2t 2 DSCP-CoS E|0|E(2&)0ilM Tt ELIC JH s 2

ei& C EEH&l% 25Mbps £ 2 EC|&ELICH 2=t WZI2 Z2|AMoi ela AFA|E LICE.
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Fallcy-rmap samgle-pailcya ERE
Class PHB Actlon 1 PHE Action 2
/Clasi--ﬁ./éﬁ Trust | = | Policing ﬁ
Enmedﬁ.cljunl 7“’@
pollcad- =
dzop 7
i Tabla :-
Crmue 1 B
SRR- ?
Map L
|| [Tables | [ Qﬂ“ . @ 1
Laysr 2 - - LT gl e =
ClaserB Marking | [~ | P9 | [gdem S B
EmdM /
paliced-
decp gff
hap
Table
—

WA appBad at the inbound inberfaca
[=arvice-padicy input sample-policy3)

Ingress QoS
Policing (exceed action policed-dscp-transmit)
Z 2| &(Exceed Action policed-dscp-transmit)

A Q| X|0) M= policed-DSCP H E|O|= Ztoll (2t L EE E2|A S & Z0tsts ECHEE EAIF
L|Ct. policed-DSCP B2 Z2|a Zdu|ado|Moi 7 &l F<ofgh Ar&E LTt 7|2 policed-
DSCP M H|O|=2 CtZ 3t Z&Lct.

<tfroot>

Distributionl(config)#

do show ml's qos map policed-dscp

PoTliced-dscp map:
di: d20 1 2 3

4
5 6 7 8 9

0 : 00 01 02 03 04 05 06 07 08 09
1: 10 11 12 13 14 15 16 17 18 19
2 20 21 22 23 24 25 26 27 28 29

3
30 31 32 33

34

35 36 37 38 39
4 : 40 41 42 43 44 45 46 47 48 49




5 50 51 52 53 54 55 56 57 58 59
6 : 60 61 62 63

O| oM SLEF DSCP Zto| LUx|ste RAe 2 le = JU&LICH 0o E S04{, DSCP 34= DSCP
340 OHEELICH EEIM SEE EE EEHE!% £ HEX| o MESELICH EEA
ST & Zitot= ECHE2 CHE DSCP 2tz MEE & A&LICH o & Sof, AXE gE0lH =
2 DSCP {22 EAlE = /&Lt

7|82 policed-DSCP Zt2 AI83t= 4 AN83tE W2 MEtstR| pE&LIct o & S0,

g3 EClMS
10Mbps £ T 2 EDfZE EC|MG TS FYF&LICH =4 T{Z/S| DSCP 2t 2 CcS4dL]ct. 7|2
DSCP g2 | %I 32 10MbpsE —§¢erf EZ{=I2 DSCP %2l CS22 M&E|L|Ct, Tst
10Mbps& Z1tst= ECHE2 DSCP /2! CS22 M&H I—IEP O|E policed-DSCP ¥ 7|£27Zt0| &

°'°J 22 oigsty| MEYLIcH etA DSCP 2tg FE3t7| fI8 Z2I4E DSCP Y EiIOI%% X
Hot7il #dste 2ol E&LICH

ol ool 27 A2 O3 Z&Lch
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« O§&EE policed-DSCP
- EF - AF31
- CS30{| M AF132 2
- CS2 - AF11

+ IP Communicator I{Z!2| DSCP (2 Al Z|5t11 256Kbps§ Z|AELICH EBE |
256KbpsE Z1HE B policed-DSCP B E|O|2 2 AL&3510{ DSCP gf2 MY MAIL.

- It o EE|F|O|ME EAISHT ZAIRLICH EBHE 0| 25MbpsE& Z 1 5tHM policed-DSCP
ElO|E2 AF235t0{ DSCP Zf2 MY A2,

E>
>.

O| Zdx|Zef|o|M2 Ctolo{a 3ol AZ & HA WS LIEFLICH

<{froot>

!I--- Policed DSCP table Configuration
Distributionl(config)#

mMs gos map policed-dscp 46 to 26
Distributionl(config)#

m s qos map policed-dscp 24 to 14
Distributionl(config)#

mM s qgos map policed-dscp 16 to 10

!--- Create Access-1ist and Class map Class-A



Distributionl(config)#

ip access-list extended | P-Conmuni cat or
Distributionl(config-ext-nacl)#

remar k

**% \Voice Payload ***
Distributionl(config-ext-nacl)#

permt udp any any range 16384 32767
Distributionl(config-ext-nacl)#
remar k

JOR)

**% \Voice Signalling ***
Distributionl(config-ext-nacl)#

pernmit tcp any any range 2000 2002
Distributionl(config-ext-nacl)#

exit

Distributionl(config)#

class-map C ass-A
Distributionl(config-cmap)#

mat ch access-group name | P-Conmuni cat or
Distributionl(config-cmap)#

exit

I--- Create Access-1ist and Class map Class-C

Distributionl(config)#

ip access-list extended application
Distributionl(config-ext-nacl)#
remar k

*

#*% Application for example **%*
Distributionl(config-ext-nacl)#

permt tcp any any eq 32768
Distributionl(config-ext-nacl)#
permt udp any any eq 32768
Distributionl(config-ext-nacl)#
permt tcp any any eq 32769
Distributionl(config-ext-nacl)#
permt udp any any eq 32769

Distributionl(config-ext-nacl)#



exit

Distributionl(config)#

class-nmap Cl ass-B
Distributionl(config-cmap)#

mat ch access-group nane application

Distributionl(config-cmap)#

exit

!--- Create Policy map

Distributionl(config-cmap)#

policy-map sanpl e-policy3
Distributionl(config-pmap-c)#

class Cass-A

Distributionl(config-pmap-c)#

trust dscp

Distributionl(config-pmap-c)#

police 256000 8000 exceed-action policed-dscp-transmt
Distributionl(config-pmap-c)#

class C ass-B

Distributionl(config-pmap-c)#

set dscp CS2

Distributionl(config-pmap-c)#

pol i ce 25000000 8000 exceed-action policed-dscp-transmt
Distributionl(config-pmap-c)#

exit

Distributionl(config-pmap)#

exit

I-—- Apply Policy map to the interface
Distributionl(config)#

interface G gabitEthernetl/0/21
Distributionl(config-if)#

service-policy input sanple-policy3
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<#root>
Distributionl(config)#

m s qos srr-queue input ?

!--- Queueing
buffers Configure buffer allocation
cos-map Configure cos-map for a queue id
dscp-map Configure dscp-map for a queue id
!--- Scheduling
bandwidth Configure SRR bandwidth

priority-queue Configure priority scheduling
!--- Dropping

threshold Configure queue tail-drop thresholds
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<#root>
Distributionl#
show m's qos maps cos-input-q

Cos-inputqg-threshold map:
cos: 0 1 2 3 4 5 6 7

queue-threshold: 1-1 1-1 1-1 1-1 1-1 2-1 1-1 1-1

Distributionl#
show ml's qos maps dscp-input-q

Dscp-inputg-threshold map:
di :d2 0 1 2 3 4 5 6 7 8 9
0 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01
1 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01
2 : 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01
3 : 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01
4 : 02-01 02-01 02-01 02-01 02-01 02-01 02-01 02-01 01-01 01-01
5 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01
6
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<#root>
Distributionl#

show m s qos i nput - queue

Queue 1 2
buffers : 90 10
bandwi dth : 4 4
priority 0 10
t hreshol d1: 100 100
t hr eshol d2: 100 100
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<#root>
Distributionl#

show m s qos i nput - queue



buffers 90 10
bandwi dth : 4 4
priority 0 10
thresholdl: 100 100
threshold2: 100 100
7 UAHES
FY U AAHEZE FE5t=E M 7HK| EAHE Ct=20 2 &L EHAlE S 2 &
1. 7 M AHx|ago|M
CHZ|d B Zu|2el|o|M2 DSCP EE= CoS gf2 7IHte 2 ZlE F QladA cH7 ol oHE
ot
2. CH7 |9 o
CH7 |2 Hu|ag|o|lMe F 7| Zhol elad|a HIHE U HIg(S 7 €9)2 dolgct.
3. AFAEDH 78
SRR oM A 27t x| 2! C|F Y HIZE ANo{5t= 7IE%|el HIZ22 T+ d&LIct
T U AAEY AT o2 TH!o] ANIE|7| ™o HIHEE = U= HIO|H &2 ANo{gfLCt.



Buffar £~ "%
I
SRR-Cueus "
Map 3
=
5
0
=
=
a
o
o
=
=
Yo

Ol 4 Mol A= WTD At&f Bol TAEIX| St&LICH F, F7H100%2 B2 WS MME + AU
LICH

- 7 M Au|3golM:

X1 CoS 20| Ci7|dof ofEELICH ol MMM = A2 E F5t x| ef&LICH

<tfroot>

!--- Assign the frames into the queue based on the (oS value.

Distributionl(config)#

m s gos srr-queue input cos-nmap

queue 1

01
Distributionl(config)#

m s gos srr-queue input cos-nap

queue 2

234567



!--- Show output.

Distributionl#
show m's qos maps cos-input-q

Cos-inputq-threshold map:
cos: 0 1 2 3 4 5 6 7

queue-threshold: 1-1 1-1 2-1 2-1 2-1 2-1 2-1 2-1
Distributionl#
show m's qos maps dscp-input-q

Dscp-inputg-threshold map:
di :d2 0 1 2 3 4 5 6 7 8 9

0 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01
1 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01
2 : 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01
3 : 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01
4 : 02-01 02-01 02-01 02-01 02-01 02-01 02-01 02-01 01-01 01-01
5 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01
6
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<#froot>

1--- Assign the frames into the queue based on the DSCP val ue

Di stributionl(config)#
mM s qos srr-queue input dscp-map queue 2 16 17 18 19 20 21 22 23
Di stributionl(config)#
m s qos srr-queue input dscp-map queue 2 24 25 26 27 28 29 30 31
Di stributionl(config)#
mM s qos srr-queue input dscp-map queue 2 32 33 34 35 36 37 38 39
Di stributionl(config)#
mM s qos srr-queue input dscp-map queue 2 48 49 50 51 52 53 54 55
Di stributionl(config)#

m s qos srr-queue input dscp-map queue 2 56 57 58 59 60 61 62 63



Di stributionl#
show m's qos maps dscp-input-q

Dscp-i nputg-threshol d map:
di:d2 0 1 2 3 4 5 6 7 8 9
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<#root>
Di stributionl(config)#

mM s qos srr-queue input buffers 67 33

Di stributionl(config)#

do show m's qos i nput

Queue 1 2
buffers : 67 33
bandwi dth : 4 4
priority 0 10
t hreshol d1: 100 100
t hreshol d2: 100 100

- AFEH FE:

O| ZAx|22i0|M 2 Is qos srr-queue input bandwidth HEO 2 £~JELICt 0{7|M, O] CHA =
2 #E 2| SRRO| ofal| MH|AE|= HIEES| &S LIEHALCY.

<#root>
Distributionl(config)#
m s qos srr-queue input bandwi dth 90 10

Distributionl(config)#



m's gos srr-queue input priority-queue 2
bandwi dt h 20

Distributionl(config)#

do show ml's qos i nput

Queue 1 2

buffers : 67 33

bandwidth : 90 10

priority : 0 20

thresholdl: 100 100

threshold2: 100 100
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Zt 1: mls qos srr-queue input priority-queue 2 bandwidth 0 S A& 504
E d|gdstg = &Lt

<#root>
Distributionl(config)#

do show m's qos i nput

Queue 1 2
buffers : 90 10
bandwidth : 90 10
priority : 0 0
thresholdl: 100 100
threshold2: 100 100

Distributionl(config)#
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<tfroot>

!I--- Assign the frames

Distributionl(config)#
m s qos srr-queue input
Distributionl(config)#
m s qos srr-queue input
Distributionl(config)#

m s qos srr-queue input

into the queue based on the (oS value.

cos-nmap queue 1 threshold 2 1

cos-nmap queue 1 threshold 3 0

cos-nmap queue 2 threshold 1 2

{sng paueyg) Guw jewsy

(



Distributionl(config)#
m s gqos srr-queue input cos-map queue 2 threshold 2 4 6 7
Distributionl(config)#

m s qos srr-queue input cos-nmap queue 2 threshold 3 3 5

!--- Show output.

Distributionl(config)#

do show m's qos maps cos-input-q

Cos-1inputq-threshold map:
cos: 0 1 2 3 4 5 6 7

queue-threshold: 1-3 1-2 2-1 2-3 2-2 2-3 2-2 2-2

Distributionl(config)#
do show m's qos maps dscp-input-q

Dscp-inputg-threshold map:
dl :d2 0 1 2 3 4 5 6 7 8 9

0 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01
1 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01
2 : 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01
3 : 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01
4 : 02-01 02-01 02-01 02-01 02-01 02-01 02-01 02-01 01-01 01-01
5 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01 01-01
6
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<{froot>

1--- Assign the frames into the queue based on the DSCP val ue

Di stributionl(config)#

m s qos srr-queue input dscp-map queue 1 threshold 2 9 10 11 12 13 14 15
Di stributionl(config)#

mM s qos srr-queue input dscp-map queue 1 threshold 3 012 34567

Di stributionl(config)#

m s qos srr-queue input dscp-map queue 1 threshold 3 32



Di stributionl(config)#

m s qos srr-queue input dscp-map queue 2 threshold 1 16 17 18

Di stributionl(config)#

m s qos srr-queue input dscp-map queue 2 threshold 2 33 34 35

Di stributionl(config)#

m s qos srr-queue input dscp-map queue 2 threshold 2 49 50 51

Di stributionl(config)#

m s qos srr-queue input dscp-map queue 2 threshold 2 57 58 59

Di stributionl(config)#

m s qos srr-queue input dscp-map queue 2 threshold 3 24 25 26

Di stributionl(config)#
do show m's qos maps dscp-input-q

Dscp-i nputg-threshol d map:
di :d2 O 1 2 3 4 5

19 20 21 22 23

36 37 38 39 48

52 53 54 55 56

60 61 62 63

27 28 29 30 31

CHZ | +48:
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<#root>

Di stributionl(config)#

m's gos srr-queue input buffers 67 33

Di stributionl(config)#

m's gos srr-queue input threshold 1 8 16
Di stributionl(config)#

m's gos srr-queue input threshold 2 34 66

Di stributionl(config)#

do show ml's qos i nput

A
e

buffers : 67 33
bandwi dt h : 4 4



priority 0 10
t hreshol di: 8 34
t hreshol d2: 16 66
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<#root>

Distributionl(config)#

mM s qos srr-queue input bandwi dth 90 10
Distributionl(config)#

mM s qos srr-queue input priority-queue 2 bandw dth 20

Distributionl(config)#

do show m's qos i nput

Queue 1 2
buffers : 67 33
bandwidth : 90 10
priority : 0 20
thresholdl: 8 34
threshold2: 16 66
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Zt 1: mls qos srr-queue input priority-queue 2 bandwidth 0 S A& 504
E d|gdstg = &Lt

<#root>
Distributionl(config)#

do show m's qos i nput

Queue 1 2
buffers : 90 10
bandwidth : 90 10
priority : 0 0
thresholdl: 100 100
threshold2: 100 100

Distributionl(config)#



O|a2dA QoS 71s

_l_L| 7|82 Cisco Catalyst 3750 22| X|0{| A X|§5t= O[B4 QoS 7|IsLICH &
= 3EAH Z2MAALICE o] BEHAIE THZI, AFA| & of 2F ILCt.

22 Qos cilo|=of et mZ!
*|xlol= 47H°| o|zell4 7|,
O|22 EA|El Z0i= Qos &ilo
LICE.

o

CtE AZ EQof CHZ|Fod| Hi x| & LICt. Cisco Catalyst 3750 A
CH7 |1 &S 37H9| 2UA[ZLol & LIct EBHE 0] B/ Zl1 QoS &l
2 7|Z0Z 4710 MZ CI2 Ch7|¥o| ECHEIS SEHE £ S

AT

ﬂﬁ fl

ZH CH7 |2 HIH 37|, of 2FE AAHIZL, AIZE 2l 2 x|c) JAIZIe 2 FHE = A&t
WTD(Weighted Tail Drop)= CH7 |2 Z0|& #El5t1T of2] EeiT 2/ol CHet x| M3 =2 A
oo = O AASELUct 2lasA ch7|d of7iHs= Mo 2 LM EL|CH Q1A cH7(d of 7K
== ZE BhR|7t ofHLICh Jg{Lt o|a A CHY|E of7Hs= ZEEE FELIC 0| Z<0f
T HIOBolM2 X EHE f}ELICH 24 ZEE OIE 98 = &LICH 2 ZEE 27tK]|
HHO 2 e = UELICH O|F th7|F AEolzt gt M Am|ad|olMoi M =[cH 2742]
MZCHE 7|8 ME 2 788 & U&LIc O- oS ol F ME & 3tLHE QIE{H o|A0 H8E

QI 3|4 U 0|23l CH7IY 25 SRRMl Q3 MHIAE|D, Ol= TZI0| HEElE 8 Fofet
LI}, Q1734 CH7|QollA SRR WIS A% Yo 2 H&ELICH SRR MOITH TRt 5
K| RER HEY £ UsLch ATFA tiy(Yel B SRt IR 2E0I X|HElE SUs

=
e S/ ZE0ME FEE 7t X0l WeEl R7F ¥ EFES S/ELICH EH‘&*% ol =&
oA 2ZEIX[E Olofl S 8HE|X|= Sf&LICH MO|EE RE0|ME o|ae|A F7F CHHFo| HEE
2 E¥EH Y 27]=2 St MeEtELICH MolEE ERfEH2 F37t R*RF é!EHOIE-IEP_._ g E
CHEZEC M M2 Y F S ALSstX| et&LICt Mo|E2 Alzhol XIEol et S #SeF Ech

= 552 MTstH DHEst EefTlol I3 W WEIE FULICH iy /Y 12 M tiy|gz 74
g 4+ Lt

Ol MoKl A 758 2E 0|74 QoS THE EREFLICE
. 7 T olA:

CoS &2 o|aell4 ci7|Ho oiEsteds

<#root>

Rack1SW1l(config)#

m s gos srr-queue output cos-map queue ?
<1-4> enter cos-map output queue id

Rack1SW1l(config)#

m s gos srr-queue output cos-map queue 1
threshold ?



<1-3> enter cos-map threshold id

Rack1SW1(config)#

m s qos srr-queue output cos-nmap queue 1
threshold 1 ?

<0-7> 8 cos values separated by spaces

DSCP zt2 o|zeil4 ch7[dol oi&EstE{™

<#root>
Rack1SWL( confi g) #
m s qos srr-queue output dscp-nmap queue ?
<1-4> enter dscp-map output queue id
Rack1SWL( confi g) #
m s qos srr-queue output dscp-map queue 1 threshold ?

<1-3> enter dscp-map threshold id
Rack1SWL( confi g) #

m s qos srr-queue output dscp-map queue lthreshold 1 ?

<0-63> dscp val ues separated by spaces
(up to 8 values total)
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<#root>

Rack1SW1(config)#

m s gos queue-set output ?
<1-2>

queue-set id

Rack1SW1(config)#
m s gos queue-set output 1 ?
buffers

assign buffers to each egress queue



threshold

Assign threshold values to a queue

Hl 7ol ZE o|adA Ch7|Gol ciEt I 27|18 T A 5te{H

<#root>

Rack1SW1(config)#

mM s qos queue-set output 1 buffers ?
<0-99> enter buffer percentage for

queue 1

0-99

Rack1SW1(config)#

mM s qos queue-set output 1 buffers 10 ?
<1-100> enter buffer percentage for

queue 2

1-100
(includes CPU buffer)

Rack1SW1(config)#

mM s qos queue-set output 1 buffers 10 20 ?
<0-99> enter buffer percentage for

gueue 3

0-99

Rack1SW1(config)#

mM s gqos queue-set output 1 buffers 10 20 30 ?
<0-99> enter buffer percentage for

queue 4

0-99

F Mo AL E FdstedH Z CHT Ko
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<tfroot>

Rack1SW1l(config)#



m's gos queue-set output 1 threshold ?
<1-4> enter

queue id

in this queue set

Rack1SW1l(config)#

m's gos queue-set output 1 threshold 1 ?
<1-400> enter drop

t hreshol d1
1-400
Rack1SW1l(config)#
m's gos queue-set output 1 threshold 1 50 ?

<1-400> enter drop

t hreshol d2
1-400
Rack1SW1l(config)#
m's gos queue-set output 1 threshold 1 50 60 ?

<1-100> enter

reserved threshold
1-100

Rack1SW1l(config)#

m s gos queue-set output 1 threshold 1 50 60 100 ?

<1-400> enter

maxi num t hreshol d

1-400

QEHo|A0 7 MEE HEsIEAH(ZIEM2Z 7 ME 1

DE ZEo SHE)

<#root>
Rack1lSWL(config-if)#
queue-set ?

<1-2> the gset to which this port is napped

A7|Ee 74
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<tfroot>

Rack1lSWL(config-if)#

Ssrr-queue bandwi dth ?
Configure bandwidth-limt for this interface

Configure shaping on transmt queues

limt
Conf i gure shared bandw dth

shape
share
Rack1SWL(config-if)#
priority-queue ?

out egress priority queue

<tfroot>

Rack1lSW(config-if)#
interface

srr-queue bandwidth limt ?
bandwidth limt for

as percent age

<10-90> enter

CHZF Mlol=Z 74

<#root>
Rack1lSWL(config-if)#
srr-queue bandw dth shape ?

<0-65535> enter bandw dth weight for queue id 1

Rack1lSWL(config-if)#
srr-queue bandw dth shape 10 ?
bandw dt h wei ght for queue id 2

<0- 65535> enter

Rack1lSWL(config-if)#
srr-queue bandw dth shape 10 20 ?
bandw dt h wei ght for queue id 3

<0- 65535> enter



Rack1lSWL(config-if)#
srr-queue bandw dth shape 10 20 30 ?

<0-65535> enter bandw dth weight for queue id 4

chod
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<#root>
Rack1SW1l(config-if)#
srr-queue bandw dth share ?

<1-255> enter bandwidth weight for queue id 1
Rack1lSW1(config-if)#
srr-queue bandw dth share 10 ?

<1-255> enter bandwidth weight for queue id 2
Rack1lSW1(config-if)#
srr-queue bandwi dth share 10 20 ?

<1-255> enter bandwidth weight for queue id 3
Rack1lSW1(config-if)#
srr-queue bandw dth share 10 20 30 ?

<1-255> enter bandwidth weight for queue id 4
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<tfroot>

I--- Map CoS to Egress Queue

Di stributionl#

show m's gos nmaps

cos- out put - g

Cos- out put g-t hreshol d map:
cos: O 1 2 3 4 5 6 7

queue-threshold: 2-1 2-1 3-1 3-1 4-1 1-1 4-1 4-1

1--- Map DSCP to Egress Queue

Di stributionl#

show m's gos nmaps

dscp-out put-q



Dscp-out put g-t hreshol d map:
dl :d2 O 1 2 3 4 5 6 7 8 9

7|2 7| Hxm/zeolM

Queue-sat 1

Total Buffer Size X Maximum threshold Ktaximum threshold Ktaximum threshold Maimum threshold
......... TR E O E ALY '-W{I"-:u"'r'

Comiman Paal

H

e

ol
ol

olzBl4 Ch7|¥E 7|2 dE2 iR E Ll &¥oi JHE.*E.*L—IIZF. o|z84 CH7|EE HX{3] O]
[m] (o]

= o |
248t A% 0| QoS &F Mot U x| ot = F<R0Bt 0| - 5ok FLICH.
7H0| CH7 1 MEJ FEED CH7|Y ME 12 7|J—1<>§ ZE ZE gEELCH ZF cH7 Mo
& HIH 37+2| 25% 7t L ELICH Zf ci7|¥d2 g2 HIH 37H] 50% (M| HE S7+9]
12 5%)E ol FgLic 2 E of| % E HIO| A= of FEI EZ2 BT LHHX| HEHE 38 E9
LEelL|ct 7|& Ax[azl|o|Md2 miZlo| A E|7| Hoi of Foll Z&E = U= 2l HZEEIZR
400%E ™ gLct.

<#froot>

Di stributionl#



show nml's qos

queue-set 1

Queueset: 1

Queue : 1 2 3 4
buffers : 25 25 25 25
t hr eshol d1: 100 200 100 100
t hr eshol d2: 100 200 100 100
reserved 50 50 50 50
maxi num 400 400 400 400

Distributionl#

show nml s qos

queue-set 2

Queueset: 2

Queue : 1 2 3 4
buffers : 25 25 25 25
t hr eshol d1: 100 200 100 100
t hr eshol d2: 100 200 100 100
reserved 50 50 50 50
maxi num 400 400 400 400

Distributionl#

show m's qos int

gi gabi t Et hernet 1/0/20

buf fers
G gabi t Et hernet 1/ 0/ 20
The port is mapped to gset : 1

The all ocati ons between the queues are : 25 25 25 25

7|8 A7EH #48:

M =2 77t HIZ Gt ko] J&LICH Mo|EE 2EQ 37 2E7t 25 SRRO| CHaH A EL
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CH7 ¥ CHYZ 9| 25% O| &0l MH[AE = /U&LICt

<{froot>

Distributionl#



show m's qos int gigabitEthernet 1/0/20 queueing

GigabitEthernetl/0/20
Egress

Priority Queue

: disabled
Shaped

queue weights (absolute) : 25000
Shar ed

queue weights : 25 25 25 25
The port bandwidth

limt

: 100 (Operational Bandwidth:100.0)
The port is mapped to gset : 1
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<#root>

Rack1SWL( confi g) #

m s gos srr-queue output cos-map queue 1 threshold 3 5
Rack1SWL( confi g) #

m s qos srr-queue output cos-map queue 1 threshold 1 2 4
Rack1SWL( confi g) #

m s gos srr-queue output cos-map queue 2 threshold 2 3
Rack1SWL( confi g) #

m s qos srr-queue output cos-map queue 2 threshold 3 6 7
Rack1SWL( confi g) #

m s gos srr-queue output cos-map queue 3 threshold 3 0
Rack1SWL( confi g) #

m s gos srr-queue output cos-map queue 4 threshold 3 1

<#root>
Rack1lSWL(config)#

m s qos srr-queue output dscp-map queue 1 threshold 3 46



Rack1lSWL(config)#
m s qos srr-queue output dscp-map queue 2 threshold
Rack1lSWL(config)#
m s qos srr-queue output dscp-map queue 2 threshold
Rack1lSWL(config)#
m s qos srr-queue output dscp-map queue 2 threshold
Rack1lSWL(config)#
m s qos srr-queue output dscp-map queue 2 threshold
Rack1lSWL(config)#
m s qos srr-queue output dscp-map queue 2 threshold
Rack1lSWL(config)#
m s qos srr-queue output dscp-map queue 2 threshold
Rack1lSWL(config)#
m s qos srr-queue output dscp-map queue 2 threshold
Rack1lSWL(config)#
m s qos srr-queue output dscp-map queue 3 threshold
Rack1lSWL(config)#
m s qos srr-queue output dscp-map queue 4 threshold
Rack1lSWL(config)#

m s qos srr-queue output dscp-map queue 4 threshold

CH7 | +4:
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<#root>

Rack1SW3(config)#

m s gos queue-set output 1 buffers 10 10 26 54
Rack1SW3(config)#

m s gos queue-set output 2 buffers 16 6 17 61

<#root>
Rack1SW3(config)#

m s gos queue-set output 1 threshold 2 70 80 100 100

16

18 20 22

25

32

34 36 38

24 26

48 56

10 12 14
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Rack1SW3(config)#

m s gos queue-set output 1 threshold 4 40 100 100 100

Rack1SW3(config)#

mM s gqos queue-set output 2 threshold 1 149 149 100 149
Rack1SW3(config)#

mM s gqos queue-set output 2 threshold 2 118 118 100 235
Rack1SW3(config)#

m s qos queue-set output 2 threshold 3 41 68 100 272

Rack1SW3(config)#

m s gqos queue-set output 2 threshold 4 42 72 100 242

<#root>
Rack1SW3(config)#

interface fastethernet 1/0/11

Rack1SW3(config-if)#

gueue-set 2

o
N
o
oo
=
1
oo
inl
r
o

OIE{H|O|A 1/0/112 CH7|E &

<#root>
Rack1SWB(config-if)#
do show mi's qos interface fastethernet 1/0/10 buffers

Fast Et her net 1/ 0/ 10
The port is mapped to gset : 1
The al l ocati ons between the queues are : 10 10 26 54

Rack1SWB(config-if)#
do show m's qos interface fastethernet 1/0/11 buffers

Fast Et hernet 1/ 0/ 11
The port is mapped to gset : 2
The all ocati ons between the queues are : 16 6 17 61

AAEH T

<#root>

Rack1SW3(config-if)#



srr-queue bandw dth share 1 75 25 5
Rack1SW3(config-if)#

srr-queue bandwi dth shape 3 0 0 O

Cisco Catalyst 3750 O|18{lA # £ LLQ(Low Latency Queueing)% X|§stx| pL&LICH @M
=2| CH7|Y X 2|E K| HELICE. priority-queue out2 TAISHH, F 12 mHZ!l0| 2 m &4
MH[AEL|Ct

<#root>

Rack1SW3(config-if)#

srr-queue bandw dth share 1 75 25 5
Rack1SW3(config-if)#

srr-queue bandwi dth shape 3 0 0 O
Rack1SW3(config-if)#

priority-queue out

Ol e 2AM5tH RRoﬂ 2todstE CH7|™o| 8t 7H Cf X7| 20l SRR 7IE x| 2! CH7 |
Ew ngol (e wr&LICH &, srr-queue bandwidth shape EE £ srr-queue bandwidth
share BE 2| weight10| FAIELICHH|Z A A0 M AFE E[X| E’ég :

Am

X CH7|Qo| AMXIE &Holste Tadel |}
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<#froot>
1/ #

show pl atform pm i f-nunbers

show platform pm if-numbers &S AtE 5t QIE{H0|A(37502] & &l QIE{H|O|A)o ST ot=
XE HHE ZolgLCt o & Eo'l fas 0/32 ZE 0/4 == U&LICH ZE ZIO 2 4§ | X|gLCH
.5 Hm grol 00| ot ZE #HE Fof 7|2 HEE X|-H§ct

<#froot>

interface gid gpn 1pn port slot unit sTun port-type Ipn-idb gpn-idb

Gio/1 1 1 25 0/1 1 1 1 Jocal Yes Yes
Gi0/2 2 2 26 0/0 1 2 2 Jocal Yes Yes
Fa0/1 3 3 1 0/2 1 1 3 Jocal Yes Yes



Fa0/2 4 4 2 0/3 1 2 4 local Yes Yes

Fa0/ 3
5 5 3
0/ 4
1 3 5 Tocal Yes Yes
Fa0/4 6 6 4 0/5 1 4 6 Jocal Yes Yes
Fa0/5 7 7 5 0/6 1 5 7 local Yes Yes
Fa0/6 8 8 6 0/7 1 6 8 Jocal Yes Yes

IE{H 0| A fa 0/30 ST 5t= ZE 7t 0/4LICt O|A| show platform port-asic stats drop port 4
PP S AL 310 QIE{H 0| A fa 0/32 CH7|YE AXIE & & UELICH

<ffroot>
2/ #

show platform port-asic stats drop port 4

Port-asic Port Drop Statistics - Summary

RxQueue O Drop Stats:
RxQueue 1 Drop Stats:
RxQueue 2 Drop Stats:
RxQueue 3 Drop Stats:

O O oo

Port 4 TxQueue Drop Statistics
Queue 0
Wei ght O Franes
Wei ght Fr anmes
Wei ght 2 Frames 0
Queue 1
Weight O Frames 0
Wei ght 1 Frames 2755160 <--- Here is an exanpl e of drops
Wei ght 2 Frames 0
Queue 2
Weight O Frames 0
Wei ght 1 Franes
Wei ght 2 Frames 0
Queue 3
Wei ght O Franes
Wei ght 1 Franes
Wei ght 2 Frames 8

o
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<#froot>

srr-queue bandwidth limt weightl

047|M weight12 ZEE X|8tsliof 6t ZE ST o] HHESQL|Ct HelE 10~90Q LI}
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